2023

A NOTE ON (a, b)-FIBONACCI SEQUENCES AND SPECIALLY MULTIPLICATIVE ARITHMETIC FUNCTIONS

EMIL DANIEL SCHWAB, GABRIELA SCHWAB, El Paso

Received July 18, 2022. Published online April 11, 2023. Communicated by Clemens Fuchs

Abstract. A specially multiplicative arithmetic function is the Dirichlet convolution of two completely multiplicative arithmetic functions. The aim of this paper is to prove explicitly that two mathematical objects, namely (a, b)-Fibonacci sequences and specially multiplicative prime-independent arithmetic functions, are equivalent in the sense that each can be reconstructed from the other. Replacing one with another, the exploration space of both mathematical objects expands significantly.

Keywords: Fibonacci sequence; multiplicative arithmetic function; Binet's formula; Busche-Ramanujan identities; Möbius inversion

MSC 2020: 11B39, 11A25

1. INTRODUCTION AND PRELIMINARIES

Horadam in [8] and [9] introduced and studied the second-order linear recurrence sequence $\{u_n\}_{n \ge 1}$ (u_0 is omitted for later reasons) defined by

$$u_{n+2} = au_{n+1} + bu_n$$

with given u_1 and u_2 and n > 0. If $u_1 = u_2 = a = b = 1$ then $\{u_n\}_{n \ge 1}$ is the sequence of Fibonacci numbers: $1, 1, 2, 3, 5, 8, 13, \ldots$ The authors of [12] denote by $\mathcal{R}(a, b)$ the set of all second-order linear recurrence sequences for fixed a and b real (even complex) numbers. In every $\mathcal{R}(a, b)$ there is an element $\{u_n\}_{n\ge 1}$ that begins with $u_1 = 1$ and $u_2 = a$ and this is the (a, b)-Fibonacci sequence for $\mathcal{R}(a, b)$ (see the section Generalized Fibonacci and Lucas numbers in [12]). In mathematics the well known Lucas sequences of the first kind $\{u_n\}_{n\ge 1}$ (we again omit $u_0 = 0$) are *integer sequences* and in their definition the same recurrence relations lie: $u_1 = 1, u_2 = a$ and $u_{n+2} = au_{n+1} + bu_n$ for n > 0, where a and b are fixed integers.

DOI: 10.21136/MB.2023.0102-22

1

1.	a=k, b=1	1, k, $k^2 + 1$, $k^3 + 2k$,	k-Fibonacci sequence (see [6])
1.1.	a = 1, b = 1	$1, 1, 2, 3, 5, 8, 13, \ldots$	Fibonacci sequence
1.2.	a = 2, b = 1	$1, 2, 5, 12, 29, 70, \ldots$	Pell sequence
1.3.	a = -1, b = 1	$1, -1, 2, -3, 5, -8, 13, \ldots$	negaFibonacci sequence
2.	a=k, b=2	1, k, $k^2 + 2$, $k^3 + 4k$,	k-Jakobsthal sequence (see [11])
2.1.	a = 1, b = 2	$1, 1, 3, 5, 11, 21, 43, \ldots$	Jakobsthal sequence
2.2.	a=-1, b=2	$1, -1, 3, -5, 11, -21, \ldots$	negaJakobsthal sequence
3.	a = k, b = -1	1, k, $k^2 - 1$, $k^3 - 2k$,	k-Sastry sequence
3.1.	a = 1, b = -1	$1, 1, 0, -1, -1, 0, 1, 1, \ldots$	Sastry sequence (see $[16]$)
3.2.	a = 2, b = -1	$1, 2, 3, 4, 5, 6, 7, 8, \ldots$	sequence of positive integers
3.3.	a = 3, b = -1	$1, 3, 8, 21, 55, 144, \ldots$	even-numbered Fib. sequence
4.	a = 3, b = -2	$1, 3, 7, 15, 31, 63, \ldots$	Mersenne sequence $(2^n - 1)$
5.	a = 11, b = -10	$1, 11, 111, 1111, \ldots$	sequence of repunits
6.	a=2, b=k	$1, 2, 4+k, 8+4k, \ldots$	k-Pell sequence (see [4])

Table 1. $u_1 = 1$, $u_2 = a$, $u_{n+2} = au_{n+1} + bu_n$ ($u_0 = 0$).

Table 1 shows important sequences (all are Lucas sequences of the first kind only if k is an integer), many of them intensively studied in mathematics over the years. In the following we will keep the real (or even complex) hypothesis for a and b, and the (a, b)-Fibonacci sequence name, as it was used in [12].

Haukkenen in [7], McCarthy and Sivaramakrishnan in [14], and the present authors in [16] pointed out that there exists a connection between specially multiplicative arithmetic functions and Fibonacci numbers. In Section 2 we express explicitly that (a, b)-Fibonacci sequences and specially multiplicative prime-independent arithmetic functions are equivalent mathematical objects in the sense that each can be reconstructed from the other (see Theorems 2.1, 2.2 and 2.3). This purpose and the fact that arithmetic functions are defined as complex valued functions on the set of positive integers have led us to the considerations:

- (1) the first two (a, b)-Fibonacci numbers are $u_1 = 1$ and $u_2 = a$ $(u_0 = 0$ being omitted);
- (2) a and b are even complex numbers.

An arithmetic function f is called *multiplicative* if f(1) = 1 and f(mn) = f(m)f(n) whenever m and n are relatively prime (i.e., (m, n) = 1). A multiplicative arithmetic function f is said to be *completely multiplicative* if f(mn) = f(m)f(n) for all m and n. A multiplicative arithmetic function f is uniquely determined by its values $f(p^n)$ at prime power arguments and a completely multiplicative arithmetic function is completely determined by its values at the primes. If f is multiplicative and $f(p^n) = f(q^n)$ for all prime pairs (p, q) and all n, then f is said to be *prime-independent*. If Ω denotes the arithmetic function defined by $\Omega(n)$ (the number of

prime factors of n counted with multiplicity) and c is a nonzero complex number then c^{Ω} is a completely multiplicative prime-independent arithmetic function.

The Dirichlet convolution f * g of two arithmetic functions f and g is defined by

$$(f*g)(n) = \sum_{d|n} f(d)g\left(\frac{n}{d}\right),$$

where the summation is over positive divisors d of n. It is both commutative and associative. The arithmetic function **1** defined by $\mathbf{1}(n) = 1$ if n = 1 and $\mathbf{1}(n) = 0$ otherwise, is the identity element for the Dirichlet convolution. The set of all multiplicative arithmetic functions with this operation is a commutative group. We denote this group by $(\mathfrak{M}, *)$.

A *specially multiplicative* arithmetic function is the Dirichlet convolution of two completely multiplicative arithmetic functions.

The *Bell series* of an arithmetic function f modulo a prime p is defined by

$$f(p,x) = \sum_{m=0}^{\infty} f(p^m) x^m$$

For any prime p, the Bell series of the completely multiplicative function c^{Ω} is the geometric series $\sum_{n=0}^{\infty} c^n x^n$, therefore

$$c^{\Omega}(p,x) = \frac{1}{1 - cx}.$$

Obviously, two multiplicative arithmetic functions are identical if all their Bell series are equal. For any two arithmetic functions f and g, we have (see [2], Theorem 2.25)

$$(f * g)(p, x) = f(p, x) \cdot g(p, x)$$

for every prime p.

2. The main theorems

Theorem 2.1. Given an (a, b)-Fibonacci sequence $u = \{u_n\}_{n \ge 1}$, the multiplicative arithmetic function f_u , defined by

$$f_u(p^n) = u_{n+1}$$
 for all primes p and all $n \ge 0$,

is a specially multiplicative prime-independent arithmetic function.

Theorem 2.2. If f is a specially multiplicative prime-independent arithmetic function and p is a prime, then the sequence $u^f = \{f(p^n)\}_{n \ge 0}$ is an (a, b)-Fibonacci sequence with a = f(p) and $b = f(p^2) - f(p)^2$.

Theorem 2.3. The constructions of Theorems 2.1 and 2.2 are inversions of each other. That is, the following statements are true:

$$f = f_{u^f}$$
 and $u = u^{f_u}$.

Proof of Theorem 2.1. If b = 0 and a = 0 then $f_u = 1$ and $f_u = 1 * 1$. If b = 0 and $a \neq 0$ then $u = \{1, a, a^2, \ldots\}$ and $f_u = a^{\Omega} * 1$.

If $b \neq 0$, since

$$f_u(p,x) = \sum_{n=0}^{\infty} u_{n+1}x^n = u_1 + u_2x + \sum_{n=2}^{\infty} (au_n + bu_{n-1})x^n = 1 + axf_u(p,x) + bx^2f_u(p,x),$$

it follows that

$$f_u(p,x) = \frac{1}{1 - ax - bx^2} = \frac{1}{1 - c_1 x} \cdot \frac{1}{1 - c_2 x} = c_1^{\Omega}(p,x) \cdot c_2^{\Omega}(p,x),$$

that is,

$$f_u = c_1^\Omega * c_2^\Omega$$

where c_1 and c_2 are the solutions of the quadratic equation $x^2 - ax - b = 0$, i.e.,

$$c_1 = \frac{a + \sqrt{a^2 + 4b}}{2}$$
 and $c_2 = \frac{a - \sqrt{a^2 + 4b}}{2}$.

The proof of Theorem 2.1 is complete.

Proof of Theorem 2.2. If f is specially multiplicative prime-independent and f = g * h where g and h are completely multiplicative then

$$f(p^0) = 1, \quad a = f(p) = g(p) + h(p),$$

$$b = f(p^2) - f(p)^2 = g(p^2) + g(p)h(p) + h(p^2) - (g(p) + h(p))^2 = -g(p)h(p)$$

for all primes p, and

$$\begin{split} af(p^{n-1}) + bf(p^{n-2}) \\ &= (g(p) + h(p)) \sum_{i=0}^{n-1} g(p^i) h(p^{n-1-i}) - g(p) h(p) \sum_{i=0}^{n-2} g(p^i) h(p^{n-2-i}) \\ &= \sum_{i=0}^{n-1} g(p^{i+1}) h(p^{n-1-i}) + \sum_{i=0}^{n-1} g(p^i) h(p^{n-i}) - \sum_{i=0}^{n-2} g(p^{i+1}) h(p^{n-1-i}) \\ &= g(p^n) + \sum_{i=0}^{n-1} g(p^i) h(p^{n-i}) = \sum_{i=0}^{n} g(p^i) h(p^{n-i}) = f(p^n). \end{split}$$

Hence $\{f(p^n)\}_{n \ge 0}$ is an (a, b)-Fibonacci sequence, where a = f(p) and $b = f(p^2) - f(p)^2$.

Online first

 \Box

Proof of Theorem 2.3. Given a specially multiplicative prime-independent arithmetic function f, the (n + 1)st term of the (a, b)-Fibonacci sequence u^f (where a = f(p) and $b = f(p^2) - f(p)^2$) is $f(p^n)$. So, $f_{u^f}(p^n) = f(p^n)$ for all primes p and all n. Now, if $u = \{u_n\}_{n \ge 1}$ is an (a, b)-Fibonacci sequence then $u^{f_u} = \{f_u(p^n)\}_{n \ge 0} = \{u_{n+1}\}_{n \ge 0}$, and therefore $u = u^{f_u}$.

3. Applications. Binet's formula, Busche-Ramanujan identities and Möbius inversion

The purpose of this section is to show how the field of exploration of (a, b)-Fibonacci numbers can be extended by simply applying the results of the previous section. We will get a new picture of them by applying the Dirichlet convolution, Busche-Ramanujan identities, Möbius inversion, etc. to "these numbers". Some of the results can be found in [12] with different proofs. We keep the notations from the previous section.

3.1. Binet's formula.

$$u_n = \frac{c_1^n - c_2^n}{c_1 - c_2}, \quad c_1 \neq c_2.$$

Proof.

$$u_n = f_u(p^{n-1}) = (c_1^{\Omega} * c_2^{\Omega})(p^{n-1}) = \sum_{i=0}^{n-1} c_1^i c_2^{n-1-i} = \frac{c_1^n - c_2^n}{c_1 - c_2}.$$

Notice that if $c_1 = c_2 = c$ (i.e., $a^2 + 4b = 0$) then the Binet formula becomes $u_n = nc^{n-1}$.

3.2. Busche-Ramanujan's identities. The Busche-Ramanujan identities state that for every positive integers m and n,

(1.1)
$$f(m)f(n) = \sum_{d \mid (m,n)} f\left(\frac{mn}{d^2}\right) g(d)h(d)$$

and

(1.2)
$$f(mn) = \sum_{d \mid (m,n)} f\left(\frac{m}{d}\right) f\left(\frac{n}{d}\right) \mu(d)g(d)h(d)$$

whenever the arithmetic function f is specially multiplicative, that is, f = g * hwith g and h completely multiplicative (see [13], Chapter 1). In (1.2), μ denotes the well known multiplicative Möbius arithmetic function: $\mu(p) = -1$ and $\mu(p^n) = 0$ if n > 1 for all primes p.

In the next theorem, (1.1') and (1.2') are the Busche-Ramanujan identities associated with $f = f_u$.

Theorem 3.1. Given an (a, b)-Fibonacci sequence $u = \{u_n\}_{n \ge 1}$ with $b \ne 0$, we have:

(i)

(1.1')
$$u_m u_n = \sum_{j=1}^{\min\{m,n\}} (-b)^{j-1} u_{m+n+1-2j};$$

 $\begin{array}{ll} ({\rm i}_1) & ({\rm Cassini's \ identity}) \ u_n^2 - u_{n-1} u_{n+1} = (-b)^{n-1}; \\ ({\rm i}_2) & (d'{\rm O}{\rm cagne's \ identity}) \ for \ m < n, \ u_{m+1} u_n - u_m u_{n+1} = (-b)^m u_{n-m}; \\ ({\rm i}_3) & ({\rm Catalan's \ identity}) \ for \ m < n, \ u_n^2 - u_{n-m} u_{n+m} = (-b)^{n-m} u_m^2; \\ ({\rm i}_4) & ({\rm Vajda's \ identity}) \ u_{n+i} u_{n+j} - u_n u_{n+i+j} = (-b)^n u_i u_j. \\ ({\rm ii}) \end{array}$

$$(1.2') u_n = u_{s+1}u_{t+1} + bu_s u_t$$

for any two positive integers s and t such that s + t = n - 1;

- (ii₁) $u_{2m+1} = u_{m+1}^2 + bu_m^2;$
- (ii₂) $u_{m+n} = u_n u_{m+1} + b u_m u_{n-1};$
- (ii₃) $u_{2m} = u_{m+1}u_m + bu_m u_{m-1};$
- (ii₄) $u_n = u_m u_{n-m+1} + b u_{m-1} u_{n-m}$.

Proof. (i)

$$u_{m}u_{n} = f_{u}(p^{m-1})f_{u}(p^{n-1}) = \sum_{d|\min\{p^{m-1}, p^{n-1}\}} f_{u}\left(\frac{p^{m+n-2}}{d^{2}}\right)(c_{1}c_{2})^{\Omega(d)}$$
$$\underbrace{(\underline{d=p^{i}})}_{i=0} \sum_{i=0}^{\min\{m-1, n-1\}} (-b)^{i}u_{m+n-1-2i} = \sum_{j=1}^{\min\{m, n\}} (-b)^{j-1}u_{m+n+1-2j}.$$

(ii)

$$u_n = f_u(p^{s+t}) = \sum_{i=0}^{\min\{s,t\}} f_u(p^{s-i}) f_u(p^{t-i}) (-b)^i \mu(p^i) = u_{s+1} u_{t+1} + b u_s u_t.$$

Now, $(i_1)-(i_4)$ and $(ii_1)-(ii_4)$ are specific cases of the Busche-Ramanujan identities (1.1') and (1.2'), respectively.

3.3. The generalized Möbius function $\mu_{a,b}$ **.** The classical Möbius function μ ,

$$\mu(n) = \begin{cases} 1 & \text{if } n = 1, \\ 0 & \text{if } p^2 | n \text{ for some prime } p, \\ (-1)^{\omega(n)} & \text{otherwise} \end{cases}$$

(where $\omega(n)$ is the number of distinct prime factors of the positive integer n), is central in multiplicative number theory.

It is well known that μ is the inverse in the group $(\mathfrak{M}, *)$, $\mu = \zeta^{-1}$, of the zeta function ζ defined by $\zeta(n) = 1$ for all positive integers n. But this ζ sequence

$$\zeta: 1, 1, 1, 1, 1, 1, 1, \dots$$

is an (a, b)-Fibonacci sequence, namely with a = 1 and b = 0. So, the following definition is a two-parameter generalization of the Möbius function.

Definition 3.1. We say that the inverse $\mu_{a,b}$ of f_u in the group $(\mathfrak{M}, *)$,

$$\mu_{a,b} = f_u^{-1},$$

is the generalized (a, b)-Möbius function, where $u = \{u_n\}_{n \ge 1}$ is the (a, b)-Fibonacci sequence.

Then $\mu_{1,0} = \mu$ and $\mu_{0,0}$ is the identity element **1** of the group $(\mathfrak{M}, *)$. If u is the ordinary Fibonacci sequence (i.e., a = b = 1) then

$$\mu_{1,1}(n) = \begin{cases} 1 & \text{if } n = 1, \\ 0 & \text{if } p^3 | n \text{ for some prime } p, \\ (-1)^{\omega(n)} & \text{otherwise.} \end{cases}$$

This is precisely Cohen's generalized Möbius function of order two (see [5]). But more than that, $\mu_{1,-1}$ is Apostol's generalized Möbius function of order two (see [1]), $\mu_{-1,1}$ is Sastry's generalized Möbius function of order two (see [15]), and $\mu_{2,-1}$ is the generalized Möbius function μ_r of order two (r = 2) introduced by Hsu in [10] (see also Brown at al. [3]). All these follow from the statement below.

Theorem 3.2. If $a \neq 0$ and $b \neq 0$ then

$$\mu_{a,b}(n) = \begin{cases} 1 & \text{if } n = 1, \\ 0 & \text{if } p^3 | n \text{ for some prime } p, \\ (-1)^{\omega(n)} a^{\overline{\omega}(n)} b^{\omega(n) - \overline{\omega}(n)} & \text{otherwise,} \end{cases}$$

where $\overline{\omega}(n)$ is the number of square free prime divisors of n.

Proof. If u is an (a, b)-Fibonacci sequence then for every prime p,

$$f_u^{-1}(p,x) = 1 - ax - bx^2$$

Therefore,

$$\mu_{a,b}(p^m) = \begin{cases} 1 & \text{if } m = 0, \\ -a & \text{if } m = 1, \\ -b & \text{if } m = 2, \\ 0 & \text{if } m > 2. \end{cases}$$

Since $\mu_{a,b}$ is multiplicative, the proof is complete.

Now, $\mu_{a,b}$ being a Dirichlet-convolution inverse, it follows:

Theorem 3.3. Let g and h be two arithmetic functions and let $u = \{u_n\}_{n \ge 1}$ be an (a, b)-Fibonacci sequence. Then,

$$g = f_u * h$$
 if and only if $h = \mu_{a,b} * g$.

The full significance of the generalized Möbius function $\mu_{a,b}$ should become with the above (Möbius inversion) theorem. We present below a sample of it.

Theorem 3.4. Let $u = \{u_n\}_{n \ge 1}$ be an (a, b)-Fibonacci sequence with the assumption $b \pm a \ne 1$. Then

(i) (the running sum)

$$\sum_{i=1}^{n} u_i = \frac{u_{n+1} + bu_n - 1}{a + b - 1},$$

(ii) (the sum of the first n(a, b)-Fibonacci numbers with even indices)

$$\sum_{i=1}^{n} u_{2i} = \frac{(b-1)u_{2n+2} - abu_{2n+1} + a}{(b-1)^2 - a^2},$$

(iii) (the sum of the first n + 1 (a, b)-Fibonacci numbers with odd indices)

$$\sum_{i=0}^{n} u_{2i+1} = \frac{au_{2n+2} - b(b-1)u_{2n+1} + b - 1}{a^2 - (b-1)^2}$$

Online first

Proof. (i) Put $h = \zeta$ in Theorem 3.3. Then $g(p^n) = (f_u * h)(p^n) = \sum_{i=1}^{n+1} u_i$ for all primes p and all $n \ge 0$. It follows

$$1 = \zeta(p^{n+1}) = (\mu_{a,b} * g)(p^{n+1}) = \mu_{a,b}(1)g(p^{n+1}) + \mu_{a,b}(p)g(p^n) + \mu_{a,b}(p^2)g(p^{n-1})$$
$$= \sum_{i=1}^{n+2} u_i - a\sum_{i=1}^{n+1} u_i - b\sum_{i=1}^n u_i = u_{n+2} + (1-a)u_{n+1} + (1-a-b)\sum_{i=1}^n u_i$$
$$= u_{n+1} + bu_n + (1-a-b)\sum_{i=1}^n u_i.$$

The proof on running sum is complete.

(ii) and (iii) Let us use h, the multiplicative arithmetic function defined by

$$h(p^m) = \begin{cases} 1 & \text{if } m \text{ is even,} \\ 0 & \text{if } m \text{ is odd} \end{cases}$$

for all primes p, and $g = f_u * h$ again. It follows

$$g(p^{2n}) = \sum_{i=0}^{n} u_{2i+1}, \quad g(p^{2n+1}) = \sum_{i=1}^{n+1} u_{2i} \text{ and } g(p^{2n-1}) = \sum_{i=1}^{n} u_{2i}.$$

Hence,

$$0 = h(p^{2n+1}) = (\mu_{a,b} * g)(p^{2n+1}) = u_{2n+2} + (1-b)\sum_{i=1}^{n} u_{2i} - a\sum_{i=0}^{n} u_{2i+1},$$

and together with the running sum:

$$\sum_{i=1}^{n} u_{2i} + \sum_{i=0}^{n} u_{2i+1} = \sum_{j=1}^{2n+1} u_j = \frac{u_{2n+2} + bu_{2n+1} - 1}{a+b-1},$$

the two desired formulas (ii) and (iii) follow immediately by solving the obtained system of equations. $\hfill \Box$

3.4. Afterword. Many properties of Fibonacci numbers follow directly from the recursive rule. Many properties can be established by induction. But that's not all. The world of Fibonacci numbers is wonderful for its diversity. The general tools presented in [12] are the path to this world. Their origin derives from the fact that $\mathcal{R}(a, b)$ is a two dimensional (if $a^2 + 4b \neq 0$) subspace of \mathbb{R}^{∞} with $\{\{c_1^n\}_{n \geq 0}, \{c_2^n\}_{n \geq 0}\}$ being a basis and which is the null space of a linear operator. So, difference operators,

Binet formulas and matrix formulation were the three contexts explored extensively in [12]. Applications and examples in [12] (the Binet formula on page 174, the running sum on pages 176–177, Cassini's formula on page 177) led us to the presentation of our three applications: 3.1, 3.2 and 3.3. Our approach differs a lot from the one in [12], but that was our goal in Section 3 after all.

References

- [1] T. M. Apostol: Möbius functions of order k. Pac. J. Math. 32 (1970), 21–27.
- zbl MR doi [2] T. M. Apostol: Introduction to Analytic Number Theory. Undergraduate Texts in Mathematics. Springer, New York, 1976. zbl MR doi [3] T. C. Brown, L. C. Hsu, J. Wang, P. J.-S. Shiue: On a certain kind of generalized number-theoretical Möbius function. Math. Sci. 25 (2000), 72-77. $\mathrm{zbl}\ \mathrm{MR}$ [4] P. Catarino: On some identities and generating functions for k-Pell numbers. Int. J. Math. Anal., Ruse 7 (2013), 1877–1884. zbl MR doi
- [5] E. Cohen: Arithmetical notes. X: A class of totients. Proc. Am. Math. Soc. 15 (1964), 534 - 539.
- [6] S. Falcón, Á. Plaza: The k-Fibonacci sequence and the Pascal 2-triangle. Chaos Solitons Fractals 33 (2007), 38–49.
- [7] P. Haukkanen: A note on specially multiplicative arithmetic functions. Fibonacci Q. 26 (1988), 325-327. $\mathbf{zbl} \mathbf{MR}$
- [8] A. F. Horadam: Basic properties of a certain generalized sequence of numbers. Fibonacci Q. 3 (1965), 161–176.
- [9] A. F. Horadam: Generating functions for powers of certain generalized sequences of numbers. Duke Math. J. 32 (1965), 437-446.
- [10] L. C. Hsu: A difference-operational approach to the Möbius inversion formulas. Fibonacci Q. 33 (1995), 169–173.
- [11] D. Jhala, K. Sisodiya, G. P. S. Rathore: On some identities for k-Jacobsthal numbers. Int. J. Math. Anal., Ruse 7 (2013), 551–556. zbl MR doi
- [12] D. Kalman, R. Mena: The Fibonacci numbers—exposed. Math. Mag. 76 (2003), 167 - 181.zbl MR doi
- [13] P. J. McCarthy: Introduction to Arithmetical Functions. Universitext. Springer, New York, 1986. zbl MR doi
- [14] P. J. McCarthy, R. Sivaramakrishnan: Generalized Fibonacci sequences via arithmetical functions. Fibonacci Q. 28 (1990), 363-370.
- [15] K. P. R. Sastry: On the generalized type Möbius functions. Math. Stud. 31 (1963), 85–88. zbl MR
- [16] E. D. Schwab, G. Schwab: k-Fibonacci numbers and Möbius functions. Integers 22 (2022), Article ID A64, 11 pages.

Authors' addresses: Emil Daniel Schwab (corresponding author), The University of Texas at El Paso, 500 West University Avenue, El Paso, Texas 79968, USA, e-mail: eschwab Cutep.edu; Gabriela Schwab, El Paso Community College, 9050 Viscount Blvd., El Paso, Texas 79902, USA, e-mail: gschwab@epcc.edu.

zbl MR doi

zbl MR doi

zbl MR

zbl MR

zbl MR

zbl MR

zbl MR doi